
 

Figure S4. Phylosymbiosis between Widow Phylogeny and Microbiota Dendrogram 
Relationships. Congruency between widow related spider phylogeny and beta-diversity 
dendrograms was measured via Robinson-Foulds Cluster (R-F Cluster) metric, where a value of 
0 = complete congruence and 2 = incomplete incongruence. Matching Cluster (MC) Metric also 
accounts for incongruency between closely related branches of rooted trees and a value of 0 also 
indicates complete congruence between compared trees. Pink asterisks are utilized to denote 
phylosymbiotic relationships between the widow phylogeny and microbial dendrogram. 
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